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9.1

A=ones (5) ;
for i=1:5
for j=5:-1:1
A(i,])=2*]*1-(1+]);
if (i+3)==
A(i,3)=1*3;
end
end
end

9.2

clear all

clc

n=7;

A=1;

BR=4;

C=A+B;

i=1;

while (i<n)
i=abs (i) +sin(pi*i)+1;
B=B+i;
C=C+A;

end

[i,A;A"2,n;B,C]
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9.3

clear all;close all;clc

N=3;

x1=1linspace (0,50,N);

y1=0*x1;

plot (x1,yl, 'k")

hold on

x2=1linspace (0,25,N);

y2=tan (pi/3) *x2;

plot (x2,vy2, 'k")

for i=1:N
x3=[x1 (1) x2 (N+1-1)];
y3=[yl (i) y2(N+1-1)];
plot (x3,vy3, "k")

end

x4=1linspace (25, 50,N) ;

yvd=-tan (pi/3) *x4+2*y2 (end) ;

plot (x4,v4,'k")

for i=1:N
x5=[x1(1) x4 (N+1-1)];
yo=[yl (i) y4 (N+1-1)];
plot (x5,vy5, "k")

end

for i=1:N
xo6=[x2 (1) x4
yo=[y2 (1) y4
plot (x6,y6, "'

end

(1
(1) ]7
k'

clear all;close all;clc 9.4

N=5;
QO=zeros (2,N+1) ;
for i=0:N
k=mod (i, 3) ;
if (k==0)
x=(1/3+1);
Y=X;
elseif (k==1)
x=(1-1)/3+42;
y=(1-1)/3;
else
x=(1-2)/2;
Y=X;
end
Q(:,i+1)=[x;v];

plOt(Q(ll:)lQ(ZI:)l'_kS')




a=0;
for k=1:2:10
if k<2
if k>0
disp('red")
end
a=atl;
elseif k== | k==
disp('green')
a=atk;
else
disp('blue')
a=a+l;
end
end
disp (a)
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function [min,max,meantemp]=dama analize (dama day)
min = 0;
max = 0;
for 1 = l:length(dama day)
if dama day (i) < min
min = dama day (1)
elseif dama day (i) > max
max = dama day (1)
end
end
meantemp =sum (dama day)/length (dama day);
end
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